
1/2 - wh scale  =  alternating   1/2 steps  and  whole steps 

7alt      C C# - D# E - F# G - A Bb 
when thinking of the 1/2 - wh scale (altered dominants),  
i find it easiest to think of it as   

R b9__chr >3rd__chr >5th__chr >7th 

(  R b9 __ #9>3rd __ #11>5th __ 13>7th  ) 

Since the scales are a short repeating pattern 

|  C7alt  |  D#7alt  |  F#7alt  |  A7alt  |                 all use the same scale ! 

start from any of those roots (all a min 3rd apart) and play the  1/2 - wh  ‘octatonic’ scale 



wh - 1/2 scale   =  alternating  whole steps  and  1/2 steps 

º7              C# - D# E - F# G - A Bb - C 

|  C#º7   |  Eº7         |  Gº7        |  Bbº7   |                also use the same scale ! 
start from any of those roots playing  wh - 1/2  octatonic scale 

that means that you can use one scale to represent:  
- 4 different alt chords and  
- 4 different º7 chords ! 

C7ALT - C#º7  | D#7ALT - Eº7  |  F#7ALT - Gº7  |  A7ALT - Bbº7 



That also means that you only have to play that scale in one of 3 places in 
order to cover EVERY  
- altered dominant 
- diminished chord  
that might come your way !      (C, C#, D for example…) 

VERY handy for pianists and horn players but also very cool for the rest of 
us 

So, even when given a diminished chord, I can just drop a 1/2 step in my 
mind and think of it as an altered dominant.  (Cº7  =  B7alt)


